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Dusty Wilson

Math 115 - Fall 2002

Root Finding Handout: Homework for section 3.3

Instructions:

All of the following polynomials have roots that can be expressed in exact form. Find all

the roots (rational, irrational, and complex roots) of these polynomials, along with the
multiplicities if the root if the root has a multiplicity greater than one. Do not give any

decimal approximations to the answers'

Your graphing caleulator, the Rational Root’s Theorem (Theorem 6 on page 231), and
synthetic division should be used to help determine your answers.

Note: The program on page 245 may be of interest to you.

1) Px) =7 +10x% — 11x - 6

2)Px)= x*-2x" - 2x2 — 2x -3

3)PE) =xt + 3% - 1053 + 7x 1

4) P(x) = 72x° — 66x> — 193x + 195

SYPM)=3x° 5%+ 2x* = 3x% _ 5x + 2

6.) P(x) = 11x° + 39%" + 46x° + 14x2 —09x _ 5
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